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Question 1

The area of a triangle is 528cm?.
The length of its base is 33 cm.

Calculate the perpendicular height of the triangle.

A:.‘ix 33““

h = 2x528 _32cm
33

Question 2
13cm
<
NOTTO
i
Scm Acm SCALE
< [
16cm

Calculate the area of this trapezium.

_;‘_ X (Q-l-b)"k

AYQO. =
1 (3416)% Y
2
. 58cm

Question 3

The shaded shape is made by joining a square and a rhombus.

NOTTO
. 4.Sem et
Scm

Work out

(a) the perimeter of the shaded shape,

jocm

(b) the area of the shaded shape.

1§ +20.S = Y3.Scm
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Question 4

D 8cm C

8cm NOTTO
SCALE

[ N
¥ 12cm q

Calculate the area of this trapezium.

m=c.93¢m

93
AV’Q&:-L—*IOXCQ

- cq.3¢m

Question 5

NOTTO

6¢m Scm SCALE

- xXcm =

The area of this parallelogram is 51.5cm?.

Work out the value of x.
9 = 10.1 O
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Question 6

4 (x—4)cm B

NOTTO
(x—1)em SCALE

7cm

D 5 F

Q

(a) ABCD is a square.

Find the value of x.

x-4:=-4
%A=\

(1]

(b) Square ABCD and isosceles triangle EFG have the same perimeter.
Work out the length of FG.

28 = 20 +F §
Fa=%om

Question 7
0.l

An equilateral triangle has sides of length 6.2 cm, correct to the nearest millimetre.

Complete the statement about the perimeter, P cm, of the triangle.

.26
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Question 8

&
NOTTO
(4 SCALE
12 !
D = B
X
6
A

ABCD is a kite.
The diagonals AC and BD intersect at X.
; 8 A

AC=12cm,BD=20cmand DX:XB=3:2
[3]

(a) Calculate angle ABC.
(4
-

@-3c.9 .
LAgC = #3-%

(b) Calculate the area of thekite.

Question 1

12cm

NOTTO
SCALE

10cm

22cm

Find the area of the trapezium.

L (|1*9_1)X|°

34xio _ 1zoot’
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Question 2

A
NOTTO
SCALE
8cm
qgn‘
B C
Triangle ABC has a height of 8 cm and an area of 42 cm?.
Calculate the length of BC. q
J_ xxx8 = 42 2]
x
] oL cMm
= =
x Lq T
Question 3
NOTTO
SCALE

R and T are points on a circle, centre O, with radius 5cm.
PR and PT are tangents to the circle and angle POT = 78°.

A thin rope goes from P to R, around the major arc RT and then from 7 to P.

Calculate the length of the rope.

4ban 38 = PT 2
proasgam  Aength =cu.8em

fAvc - 204, 2Txs =13.80m
360

Question 4

i NOTTO

SCALE
A 5

A 15¢cm

Calculate the area of triangle ABC.

A - 1x QXISXS?nﬂs.
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Question 5

A large rectangular card measures 80 centimetres by 90 centimetres.

Maria uses all this card to make small rectangular cards measuring 40 millimetres
by 15 millimetres. {.§ Yy
Calculate the number of small cards. [2]

2
|arqe D = 3200 C‘g
Smal O = 6com

number = 3200 . 1200
(~

Question 6 (x +4)cm
2

R 4xcm

NOTTO

SCALE

= % 4120+ 2%+ 24
0 (x+2)cm o %2_'_ lq%_‘,gq
(x+12)cm
(1]

(a) (1) Write down an expression for the area of rectangle R.

Yo xCR+4) = Wi+ 16%

2
(i1) Show that the total area of rectangles R and Q is  5x + 30x + 24 square centimetres.

(1]
2
U3 162+ 2+ 192 + 24

= 0% 30u+ 24 shown) +36

(b) The total area of rectangles R and Q is 64 cm2 : 2
Calculate the value of x correct to 1 decimal place. [4]
%+6%-8=0

‘5')62+30x+2¢4=5‘4 \ x--G+J36+qx8 _-—6 JA
2

2
5%330%=40 | The Maths Society - _:g,ggf
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Question 1
e

The base of a triangle is 9 cm correct to the nearestcm.
The area of this triangle is 40 cm? correct to the nearest 5cm?.

Calculate the upper bound for the perpendicular height of this triangle. ;{ <
A= Lbh x2
2 85.0
h= 20 U8 = 2%42-5 _ g5
b e (8 8.6 86

L

= 10
Question2
/\
NOT TO
P SCALE
Sm Sm
i [t
- 12m >

The diagram shows the front face of a barn.
The width of the barn is 12m.
The height of the barn is 8 m.
The sides of the barn are both of height Sm.
(a) Work out the area of the front face of the barn.
L Co+b)xh = L (S48)x€
a -
= I13x3 =39

2
Jotol - 3422 = 38m

(b) The length of the barn is 15 m.

Work out the volume of the barn.

V= ?8%\5 15m
= l|?om3
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Question3

The scale on a map is 1 : 20 000.
The area of a lake on the map is 1.6 square centimetres.

Calculate the actual area of the lake.
Give your answer in square metres.

lem (map) = 20000 creal)
2 a = Yx |o8
(100) | tm

2
cnoam R gy xioom

2
2
6 40000000 M = eyooom

Question4

/
b

fat)
y

- kcm >

The diagram shows a square of side kcm.
The circle inside the square touches all four sides of the square.

2
(a) The shaded area is 4 cm .

Show that 44 = 4k2— nk 2

2 2
'“-V'z _k_ﬂ kz-_kz‘“.zﬂ

9
Yy

q),,"_ k' = 4R cshown)

(b) Make & the subject of the formula 44 = 4k2— nkz.
k*(q-T) =4A
3
k™ = YA

(2]

(3]
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Question 5

> NOT TO
SCALE
D > : C
- 17xcm > < 12xcm A

ABCD is a trapezium.

(a) Find the area of the trapezium in terms of x and simplify your answer.

.L(a+b)xk

= J_(lax+|=}x+mn)x5x
%x‘lzx x6% = 105%

(b) Angle BCD = y°. Calculate the value of'y.

J-ang.:i’.‘:

12%
J = *0'7‘(5/12)
Question 6 y = 226

In triangle ABC, AB = 6cm, AC = 8cm and BC = 12cm. Angle ACB = 26.4°.
Calculate the area of the triangle ABC.

NOT TO A
SCALE

12¢cm
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